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DHT Task 2

Articulation of
Response (clarity,
organization,
mechanics)

Ala. Geographic
Location

A1lb. Biotic and
Abiotic
Components

A2. Impact of

Human Activity

A3. Future Human
Impact

A4. Guidelines

B. Sources
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value: 0.00

The candidate provides
unsatisfactory
articulation of response.

The candidate does not
accurately identify the
geographic location of
the specified ecosystem.

The candidate does not
provide a logical
explanation of the major
biotic and abiotic
components of the
specified ecosystem.

The candidate does not
provide a logical
discussion of the impact
that humans currently
have on the specified
ecosystem.

The candidate does not
provide a logical
prediction of the effect
of future human impact
on the specified
ecosystem.

The candidate does not
provide logical guidelines
regarding human
activities that will aid in
preserving the specified
ecosystem.

When the candidate uses
sources, the candidate
does not provide in-text
citations and references
for each source used.
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value: 1.00

The candidate provides
weak articulation of
response.

Not applicable.

The candidate provides
a logical explanation,
with insufficient detail,
of the major biotic and
abiotic components of
the specified ecosystem.

The candidate provides
a logical discussion, with
insufficient detail, of the
impact that humans
currently have on the
specified ecosystem.

The candidate provides
a logical prediction, with
insufficient support, of
the effect of future
human impact on the
specified ecosystem.

The candidate provides
logical guidelines, with
insufficient support,
regarding human
activities that will aid in
preserving the specified
ecosystem.

When the candidate
uses sources, the
candidate provides
appropriate in-text
citations and references
with major deviations
from APA style.
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value: 2.00 Score/Level
The candidate provides

adequate articulation of

response.

The candidate
accurately identifies the
geographic location of
the specified ecosystem.

The candidate provides
a logical explanation,
with sufficient detail, of
the major biotic and
abiotic components of
the specified ecosystem.

The candidate provides
a logical discussion, with
sufficient detail, of the
impact that humans
currently have on the
specified ecosystem.

The candidate provides
a logical prediction, with
sufficient support, of the
effect of future human
impact on the specified
ecosystem.

The candidate provides
logical guidelines, with
sufficient support,
regarding human
activities that will aid in
preserving the specified
ecosystem.

When the candidate
uses sources, the
candidate provides
appropriate in-text
citations and references
accurately or with only
minor deviations from
APA style, OR the
candidate does not use
sources.
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